GENERAL SCIENCE IMP QUESTION / SAMPLE PAPER - 23

Q81. The melting point of ice is:

% T ITTeTioh g
A. -273°C
B. 273%
C. 273°C
D. -273%
Sol-

The temperature of the reverse change from liquid to solid is called the freezing point or crystallization point.
For most substances the melting point and freezing points are equal.

For ice, the melting point is 0°C or 273K. The melting point is the temperature at which a solid turns into a
liquid.

The melting point at which ice a solid turns to water a liquid is 32°F (0°C).

el & o1 & TR aRacet o AT i fg#ien fdig a1 foheceiiantor foig ahgr ST g |

JifRreprer gerdt & forw aTertien 31k fRdATs @A gla 2|

TP & fIT, ITeTeTTeh 0°C AT 273K BIAT & | ITTATeh dg ATIHTA & ToTH X IS 3H gd & deol ST & |

TTeleTTen Tord ORIt ek 31 UTelt & S&o ST &, I8 32°F (0°C) AT &1

,m
hot 110 °C |

Temperature Scales e T

boiling point
of water
80 (upper fixed
point or

(1) Ice point 0°C 0 [ Geampony
(melting ice) oy

a 30 [{ melting point
(2) Steam point 100°C ., || i<,
point or

(boiling water) 10 B leopon

CELSIUS SCALE e

Temperature, Heatand Internal Energy

Q82. While white washing, CaOH; reacts slowly with CO; in air to form a thin layer of on the walls.

WS T HIT, CaOH, AT H CO, F TTY ¥R-MR fAfhar aeh EIaRT W Ueh Idell R SATT & |
A. Ca0

B. (CaSO4
C. CaCl,
D. CaCOs

Sol-

While white wasting Calcium hydroxide (Ca(OH);) reacts slowly with the carbon dioxide (CO,) in the air to form
a thin layer of calcium carbonate (CaCOs) formed after two to three days of whitewashing and gives a shiny
finish to the walls.

Ca(OH),+C0O,=CaC03+H,0

Calcium carbonate is the chemical name of marble/limestone.

Calcium hydroxide, also called slaked lime.

STafeh Gihe, 3T9TRISe HieRTH BISSIFHTSS (Ca(OH),) AT H ShTeleT STSITFITSS (CO,) & AT efR-eMR ufaferar
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Ca(OH),+C0,=CaCO3+H,0
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Q83. In each carbon atom is bonded to four other carbon atoms forming a rigid three dimensional structure.
Scdeh HIdel LATI] TR 3o FHleleT ILATIL3T & ST &1l & 3R Teh HoR RfaeT See 1 aararg|

A. Graphite /AT
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B. Ethane /é'?fl?-r

C. Diamond /gRT
D. Methane /H9eT
Sol-

In diamond, each carbon atom is bonded to four other carbon atoms forming a rigid three-dimensional
structure.

Diamond is an allotrope of carbon, in which atoms are arranged in a crystal structure called diamond cubic.
Diamond is the hardest and has the highest thermal conductivity of any natural material. These properties
make it very useful for industrial purposes.
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Q84. The value of ‘g ‘ decreases with
‘g FTHAT S AT Tedrg

A. mass /GSTHTT

B. amplitude /GcTHTA
C. weight /daled

D. altitude /3915

Sol-
The value of 'g' decreases with altitude.
'g' is the acceleration due to gravity.
The acceleration due to gravity is the acceleration gained by an object due to the force of gravitation. The SI
unit for the same is m/s2.
Its standard value is 9.8 m/s? on the surface of the earth at the sea level.
The formula of 'g'is: g = GM / R?
The value of 'g' depends on the following:
e altitude above the surface of Earth
e shape of the Earth
depth below the surface of Earth
e rotational motion of the Earth
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Q85. instrument is used to measure potential difference

SYSUT T 3T GHTTIS 3T T AT & TIT fFar smar g

A. Potentiometer /q’f?:faﬁa’n:ha
B. Ammeter /THIET
C. Galvanometer /Iea=tde
. Voltmeter /aTecHTeX
Sol-

A voltmeter is an instrument used to measure the potential difference.

A voltmeter is used between two points in an electric circuit to measure the potential difference between
those two points.

Voltmeter was invented in 1819 by Hans Oersted.

drecHIeT U 3UHIUT & TSTHT 3YITT HHTTAT 3R T AT & Torw fovar Srar g

e faegd ufer 7 &Y figait & o ve dteesiet o1 3uter 3o ar g3t & dfrer wenfad 3iaw 3 Arda &
forT fmar SIrar |

qrecHIeT FT AASHR 1819 F £ 3T A fohar am|

Q86. is the property of attracting electrons by the halogen atoms in a molecule.
Te 370 3 FellateT IRATUT3 EaRT Soiagiall &1 3TN e &1 0T |

Electron affinity /sﬁ?gl?rao_-‘?:ﬁT

Electropositivity /Selaeaifafefaer

Electrochemistry /SolaraToh T

Electronegativity /WWUHFHWT

o 0N » »

Sol-

Electronegativity is the property of attracting electrons by the halogen atoms in a molecule.
Electronegativity is a measure of the tendency of an atom to attract a bonding pair of electrons.
Fluorine (F) with atomic number 9 is the most electronegative element.

SAFCIANETAET Uehs 3T H Gl ofel TRATUIHT ST Selereleil sl HTh T &let hT Hafd &
SAFCIANETAET SeleFeiall hT Teh STl SNSY b TR Tl el & [oTT Teh IRATI] Y T el T Teh IURT |
URATU] ShATeh 9 aTell FellileT (F) T 3T faegd &OTcHs dcd 8|

Q87. The image shows the pH values of four solutions on a pH scale.

ofa v Nver YA 9 IR gATTET & frog A feardr §1
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Which solutions are alkaline in nature?

hieT & Taroraret &7 Tehfd I 82
A. AandB

B. BandC

C. CandD

D. AandD

Sol-

The pH Scale

Stomach Water Stomach Ammonia

Mllk Blood E
Add loo a9 Solution Bl h
Battery ch Lemon Tomato ~ Coffee » White = Soap -

s0c0@>s Aol

g

Drain
Cleaner

ACIdIC Neutral Alkaline

Q88. In the below figure the parts A, B and C are sequentially
A RTaTRTTaeTA B3R CHAFTTAE

A

T
-~ \_/ C

Cotyledon, plumule and radicle /SoT9, CoFget 31T YSeher
Plumule, radicle and cotyledon /Cel&el, fwar ik Afe=ET

Plumule, cotyledon and radicle /“el&gd, EﬁWﬁTW
Radicle, cotyledon and plumule / I3, @GI‘Q’:T&T\TW»IFEI@T

o 0w >

Q89. The image shows how Amoeba obtains nutrition.

Siq e & foF 37eer IIyoT 3 yred AT g
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How is this process advantageous for Amoeba?

Ig 9fehar 3mieT & forT R YR oTsteTae &2

A. capturing of food takes less time / $i1STeT IR ool et H el THAT 97T &
B. complex food can be digested easily [SIfEeT HISTeT 3T & 9T Thell &

C. more amount of food can be consumed /mmﬁaﬂaﬂﬁvmmm%

D. fast distribution of nutrition within the body /2RI & 3T 9IYUT &l doil § TaaRoT

Sol-

Fast distribution of nutrition within the body, this process is advantageous for Amoeba.

Amoeba is a unicellular animal that feeds on a holozoic diet. Phagocytosis is the method through which
Amoeba obtains nourishment

QR o 37 9ISt &7 ot & AT, g 9ishar 3T & foT sraede &
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Q90. White phosphorus glows in the dark due to :

e BIREGIRE IR H TAGAT & :
A. Amorphous character/ 3=Tsp X 9TH
B. Slow Oxidation/ &Y 3iferefierToT
C. High ignition temperature/ 3T STl ATIHTT
D. Good conductor property of eIectricity/ﬁa:{I:T-riﬂWirUT

White or yellow phosphorus glows in the dark due to its slow combustion in air. its energy of combustion is
released as light. this property is known as phosphorescence.

91. Plant absorb dissolved nitrates from soil and convert them into
e FAreeY & gl g ATsee I Jralfid #cl § 3R 3% HuRafdama g

A. Free nitrogen/ﬂﬂﬂﬂ@@?ﬂ
B. Urea/?Jl(ﬁ?’JIT

C. Ammonia/ 3&EAaT

D. Proteins/ 9erT
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The plant cells absorb nitrates from the soil and convert them into ammonia which ultimately reduced to
ammonium ions (NH4+). These ammonium ions are then combined with organic compounds to form amino
acids such as glutamine i.e., free nitrogen. This process of conversion is known as nitrogen fixation.

92. Which hormone causes emotional disturbance?
i1 T gTAIT HTaTcHS 37T T HRUT IAdT 672

A. Thyroxine/ dRRITFET
B. Oxytocin/ JFdef@e
C. Vasopressin/ dHATHeT
D. Adrenalin/ Tg=TfeleT

Adrenalin is released when we encounter fear/anxiety situations. The release of adrenaline can then help us to
over come our fears/anxieties by helping us to escape from the situation (through fight/flight).

TS g 31/ fia &t FEaforl o1 ATaT X § A TgaATTelet Herel g1l 8. UgeiTelieet 1 RgTs ad gl fFufa &
T 7 HEE e (T3TS/33TeT & ATETH W) AR Y/FAATIHT I 1] ITo¥ 7 Heg T Hebell |

93. How many moles are present in 54g in He?

54 A # fohetel Hel Hiole 82
A. 13.5mole /13.5 AT

B. 10 mole /10 AT

C. 12mole/ 12 AT

D. 25 mole /25 AT

A number of grams of Helium (He) = 54 gm.

The molecular mass of Helium=2x2 =4,

Now multiply the mass with a number of elements we get =4 x 1 = 4. Now a number of moles in 54 gm of
Helium is (n) = 54/4n = 13.5 moles.



GENERAL SCIENCE IMP QUESTION / SAMPLE PAPER - 23

94. The characteristic gas equation PV = nRT applies correctly to which gas.

faferse A9 FHAFIOT PV = nRT I 3 9T HE 9T & 9] BT B
A nuclear gas / Teh AT EIE: |

Diatomic gas/m Eips)

Ideal gas / 3TeeT 3T

D. Real gas / 31gell 3T

The characteristic gas equation is commonly used to estimate the density of ideal gases. So it is also called the
ideal gas equation. The characteristic gas equation or ideal gas equation is based on the unhindered
movement of gas molecules within the confined space. At constant temperature when molecular energy is
constant, the product of pressure and volume is constant. At low pressure, most gases obey the characteristic
gas equation (ideal gas equation), which can be written as PV = nRT

o = >

where, P = pressure, V = Volume, T= Temperature and R = Universal gas constant, n = Number of moles.

fafRIse 3Ie FATeRoT T IUATET ITHCN T 3TE e 3T & HeTed T ITAT ST & foT fohar Sirar & | safaT
= 371CT I THIAIOT 37T gl ST & | fafRrse It @aienoT ar 31re el 3 Tefrentor @iffa T & v 3t
& 3TOT3HT Y fovaiTer afey o 3MenTRa §1 R araarer o S1a 3rmotfares St R el €, gara 31K 3mareer &r
T[UTeAthel [EUT EIelT § | T EoTd O, Jiferenier A fafRrse e qefiertor (31meret e Feienon) &t areled il 8,
S PV = nRT & & & for@r ST ashar g

18T, P = &&T4, V = 3™, T = A9 3R R = @rasiifae 39 fEeRi, n = Arer $r g

95. What is the oxidation state of chlorine in Cl,O;?

CLO; H FARIT T TFHIHI0T JHTEAT FAT g2
A -2
B. +7
C. -1
D. +1

Let the oxidation number of Chlorine (Cl) in Cl,0; be x.
Oxidation state of oxygen is -2

2x+7x(-2)=0

or,2x-14=0

or,x=+7.

96. What is Mach number?

AP Fa &7 82

A. Speed of object x speed of sound / ER—T:[ Fr aifa x eafar Fr afa
B. Speed of object /speed of sound / a&d Fr afa / «afa & a1fa
C. Speed of object + speed of sound ER?:I:' Fr aifa + eafa & afa

D. Speed of object- speed of sound ER—T;T Fr afa - eafa Fr afa

mach number is defined as the ratio of the speed of an object to the speed of sound. mach number
is denoted by ‘m’.
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#e e F e avg @ afd AR el @ afT F segea & w5 7 afenia e
ST & AT §E&AT B 'm' ¥ g2 S B

97.The functional group present in propanal is:

SeTel 7 HiS[g FHATcHS HHE &
A. —-OH
B. —COOH
C. -COo-
D. —Cho
General formula | Functional group | Functional group name
R-X -X(F,Cl,Brorl) | Alkylhalideorhaloalkane
R -OH -OH Alcohol
R -0-R -0- Ether
R -CHO -~CHO Aldehyde
R -CO-R -CO- Ketone
R -~COOH -COOH Carboxylicacid
R -COCI -COCl Acid chloride
R —~COOR' ~COOR' Ester
(RCO),0 -CO-0-CO- Anhydride
R -~NH, -NH, Amine
R-C=N -C=N Cyanide
R-N=C -N=C Isocyanide
R-O-N=0 -0-N=0 Alkylnitrile

Q98. Which of the following compounds is commonly used as an antiseptic in mouthwashes and toothpastes
fRrAfaf@d # @ et a1 QA ITACAR ) AYETer AR cudee A TEATTed & &9 7 39ANeT fhar STren &
A. Sodium chloride /AIfSTH FeRSS
B. Borax /@R
C. Saltpeter /ETecdley
D. Hydrogen peroxide /gT83ITel RIFHTSS

Sol-

Sodium Chloride (NaCl) is commonly used as antiseptic in mouthwashes and toothpaste.

Sodium Chloride is also known as common salt which is used for cooking.

Potassium nitrate is one of several nitrogen-containing compounds collectively referred to as saltpetre or
saltpetre.

TSI FARTSS (NaCl) HTHAAN I A3YETRT 3R cydee 7 TRTTesd & & & 92197 fanar Srar |
AfZTH FARTSS Fl ATATTT THP & T H HY ST ST § THHHT 3T @IAT IehTed & forw fvam Srar g
AR RITA AT HS ATSIeTeT Jek AMfAent F § Uah g T Ae{fesh &9 & Arocdie A1 Areedel 81 STl ¢ |

Compound |Uses
Borax It is used against ants and
fleas etc.
Thickening agent in the
Saltpetre soup.
Used as a mild antiseptic
Hydrogen o
Peroxide I|q_U|d f_or scraps, burns,
minor injuries etc.
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Q99. What is the chemical name of 'Alum'?

el &1 Trafas A FaT g ?

Aluminium chloride /E'F{J)ﬁfﬁ'q??a-?ﬂ?l%_s'
Aluminium iodide /U@ﬁﬁ'ﬂﬂmglég
Aluminium sulphate /Umﬁw

Aluminium nitrate /U@ﬁﬁ'ﬂﬂﬁ'l%ﬁ?

o 0w >

Sol-

An alum is a type of chemical compound, usually a hydrated double sulfate salt of aluminium with general
formula XAI(SO 4) 2-12H ,0.

In most industries, the name "alum" (or "papermaker's alum") is used to refer to aluminium sulfate which is
used for most industrial flocculation.

In medicine, "alum" may also refer to aluminium hydroxide gel used as a vaccine adjuvant.

Aluminium chloride(AICls) is also known as aluminium trichloride.

Aluminium iodide(Alls) is a chemical compound containing only aluminium and iodine.

Aluminium nitrate is a white, water-soluble salt of aluminium and nitric acid, most commonly existing as the
crystalline hydrate, aluminium nitrate nonahydrate, Al(NOs)3-9H,0.

foheehil Teh TehR T TATATAeh FfATeh 8, 3THAR TR FTHT G XAI(SO4) o-12H 20 o HTY Tog @ i e st
gIS5C¢s Sdof Hothd oIHG |

JfRremTer 3EANT #, "Terd" (AT "JuRART T Theerdl") AT T 3TN TogA A 1 HefAd it & faw
RAT SATATE, mmmrmﬂocculation & foT fFar SATar gl

Rfrcar 1, "Rl e derelleT Hgrae & §9 7 3uNeT fhT ST aTel TegA AT grsgiararss Siol &1 o
Ioold I AHhAT S|

TTRTATH FARTSS (ACl) Y TegTATATH ZEFelNISS & oA1H & 8 ST ST g |

9

T AT HTATSTSS (Alls) T THRITS e ¢ forae shae Togaieras 3R e gar g |

9

TTRTATH A8 TogHIg# 3R Arsieen TRl & T Athe, Trell & ool 51He B, ST ATHAN X

9

fheei aTs3e, TegaNforas Tsee Alesse, & 9 Aleg a1 |
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e

Q100. Which of the following acids is found in Tea?
frafaf@a & & #ia ar s g A qr STarg?

A. Butyric acid /@(ﬁiﬁ‘i’ﬁl@'
B. Formic acid /ﬁﬁ%ﬁﬁg
C. Tartaric acid /eReRa TfAg
D. Tannic acid /¢fasr Tfads

Sol-

Tea is processed from the young leaves and buds of the tea plant. It contains numerous substances which help
to relieve tension and provide refreshment and the amounts of these substances vary in different types of tea
leaves, which makes their tastes and flavors different.

Tannins are one of these naturally occurring substances. Tannic acid is a specific form derived from tannin. It is
a type of polyphenol. Due to the presence of numerous phenol groups in the structure the acidity weakens (pH
around 10).

AT T AT 3 S hr AT afert 3R ot & AT R ST § | SH9 &% TeT 81 § it elrd &bl g%
et AR ATl UeTeT e 7 Feg d & 3R 31 uerat & AT faffiest yeer S arr S gt 7 e g
g, ST 3eToh TaTG 3R FATE T 37T FeTcl & |

To¥eT SoT HTehcteh §9 & UIT SiTeT dTel YeTed & & Teh & | Eioteh TRAS ¢atet & 9o Ueh fafRIse &9 8| I8 Teh
TR T Aleltheilel § | TN H % fheilel THgT T 3UTEATT 3 HROT 3ol HAAR & A1l & (foa
TS 10)



